Pharmacology
The potency of a drug may be different at different organs although they bind to the same receptor 

All cell surface membrane receptors regulate ion channels F 
Mechanisms that involve cytoplasmic receptors take a long time for their effect to be seen. (days) T

The shape of an effect vs log drug concentration curve is a hyperbola F

The EC50 of a drug is the concentration of the drug that gives half the maximum effect T
The Volume of distribution is directly proportional to the amount of drug that binds to plasma proteins F

3 graphs: X. Y (more to the right) Z (even more to the right) W shows EC50 at log.
The X axis should be labeled as log10[antagonist] F
The Y axis should be labeled as log10[effect] F

The EC 50 graph X is equivalent to taking antilog of W T

The graph of Y and Z shows X when a competitive antagonist is added T

Difference in expected drug effects can be due to:

Patient non-compliance T

Drug-drug interactions T

Genetic polymorphism, which is the main contributing factor F

The following interact:

Tertracyclines and antacids T

Diazepam and methrotrexate F

Cimetidine and Theophylline T

A patient was given drug x with a bioavailability of 0.8 and half life of 12 hours orally, 400mg every 8 hours. 
A steady state concentration will be reached after 4 drug doses F
The patient receives 50mg of drug per hour F
After 4 days, the plasma concentration of the drug is 10mg/L. The clearance of the drug is 4mg/L T

If the plasma drug concentration is to be adjusted to 4mg/L, the dose should be changed to 240mg every 12 hours T

Propanolol:

Is a cardio selective blocker F

Has intrinsic sympathimimetic properties F

Can be used to counteract the effects of histamine

Can be used to treat hyperthyroidism T

Catecholamines:

Are used in local anesthetics T
Can be used as topical hemostatics T

Can be used to treat constipation T

Can be used to clear blocked nasal passages T

If a drug is excreted unchanged by renal tubular excretion:

Its glomerular filtration does not depend on the pH of the urine. T

A drug that is secreted actively in the renal tubules has a clearance of more than 125ml/min.

If a drug is passively secreted, all the drug in the glomerular filtrate will be in the urine.

A drug is given to a patient that causes contriction of the pupil, difficulty in breathing and skeletal muscle paralysis. The above shows:
The drug acts on both muscarinic and nicotinic receptors T

Its effects can be reversed by giving anti-cholinesterases F

Atropine reverses the effects of the drug T

It can be used to treat intestinal spasms F

H1 antagonists:
Examples are diphenhydramine and ioratidine T

Are used to treat allergic reactions T

The dose-response relationship of a drug is such that the response increases as the dose increases until a maximum effect is reached T

A competitive antagonist acts on the same receptor as the agonist T

The effects of the competitive antagonist can be overcome simply by increasing the dose of agonist used T

When using a competitive antagonist the maximum effect obtained by the drug is still the same T

